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CHALLENGE 2: ANSWERS 10 trees marked on the map

The inhabitants of

A mature oak tree will

The ash is used to make Alder used to be the When scots pine resin
produce around 2,200 which country used the handles for tools and preferred wood to hardens it often traps
acorns a year. How many of bark of the birch tree to ; sports equipment e.g. axes and make? y insects inside and forms?
these will grow into another free? make canoes? hockey sticks. This is because? B: Clogs B: Amber
C:1in 10,000 C: Canada B: It absorbs shock

without splintering

Known locally as the Conkers grow on horse The wood of Which of the following in which book is the

“wiggen tree” the chestnut trees and are the sycamore is is not made of hazel : most powerful wand in

rowan was often planted near used in a children’s game. traditionally used to make the stems? the land said to be made from
farm houses to? What was the game originally back of a? B: Model aeroplanes eldertree wood and a

A: Protect from witches played with? A: Violin “thestral tail hair?”

B: Snail shells A: Harry Petter



